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....instrumentation is the hardest part of a tracing deployment
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Span A

Span B Span C

Span D Span E Span F Span X

C is child of A

X follows from F



 

 

 

A B



● Span = tracer.buildSpan(name)
● SpanContext = tracer.extract(carrier)
● tracer.inject(SpanContext, carrier)



● baggageItems()

● setTag(K, V)
● log(timestamp, map) 
● finish()

setBaggageItem("foo", "bar")

getBaggageItem("foo")
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Chat: gitter.im/opentracing/public

Github: github.com/opentracing

Web: opentracing.io

Chat: freenode #hawkular

Github: github.com/hawkular

Web: hawkular.org
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